
sin(A + B) = sinAcosB + cosAsinB

These	
  are	
  two	
  of	
  the	
  three	
  
Angle	
  Sum	
  Iden,,es	
  

BABABA sinsincoscos)cos( −=+

BABABA sincoscossin)sin( −=−

These	
  are	
  two	
  of	
  the	
  three	
  
Angle	
  Difference	
  Iden,,es	
  

BABABA sinsincoscos)cos( +=−



Find	
  

°75sin

Using	
  your	
  trig	
  tables	
  and	
  the	
  sum/difference	
  iden::es	
  

°15sin

°75cos

°15cos

)3045sin( °+°=

)3045sin( °−°=

)3045cos( °+°=

)3045cos( °−°=



Find	
  

°75sin

Using	
  your	
  trig	
  tables	
  and	
  the	
  sum/difference	
  iden::es	
  

°15sin

°75cos

°15cos

 = sin(45)cos30+ cos45sin30

 = sin(45)cos30− cos45sin30

 = cos(45)cos30− sin45sin30

 = cos(45)cos30+ sin45sin30
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No:ce	
  that	
  the	
  
angles	
  we	
  just	
  used	
  
were	
  the	
  special	
  
angles	
  from	
  your	
  trig	
  
tables…	
  



Find	
  

°75sin

Using	
  your	
  trig	
  tables	
  and	
  the	
  sum/difference	
  iden::es	
  

°15sin

°75cos

°15cos

 = sin(45)cos30+ cos45sin30

 = sin(45)cos30− cos45sin30

 = cos(45)cos30− sin45sin30

 = cos(45)cos30+ sin45sin30
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α
β

(3, 4) 
(–5, 12) 

Find	
  the	
  sine	
  and	
  cosine	
  for	
  both	
  angles	
  

 
sinα = 4

5

 
cosα = 3

5

 
sinβ = 12

13

 
cosβ = − 5

13



Use	
  the	
  answers	
  you	
  have	
  and	
  the	
  composite	
  iden::es	
  to	
  solve	
  the	
  given	
  problems	
  

 
sinα = 4

5  
cosα = 3

5  
sinβ = 12

13  
cosβ = − 5

13

 sin(α + β ) =

 sin(α − β ) =

 cos(α + β ) =

 cos(α − β ) =

 sinα cosβ + cosα sinβ
 
= 4

5
− 5
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⎛
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⎞
⎠⎟
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5
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⎛
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⎞
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= − 20
65

+ 36
65  

= 16
65

 sinα cosβ − cosα sinβ
 
= 4

5
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⎛
⎝⎜

⎞
⎠⎟
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5
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⎛
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⎞
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= − 20
65

− 36
65  

= − 56
65

 cosα cosβ − sinα sinβ
 
= 3

5
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⎛
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⎞
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− 4

5
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⎛
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⎞
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= − 15
65

− 48
65  

= − 63
65

 cosα cosβ + sinα sinβ
 
= 3

5
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13
⎛
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⎞
⎠⎟
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5
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⎛
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⎞
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= − 15
65

+ 48
65  

= − 33
65



  sin( A+ A) = sin Acos A+ cos Asin A

This	
  is	
  called	
  a	
  Double	
  
Angle	
  Iden,ty	
  for	
  Sine	
  

AAA 22 sincos)2cos( −=

Here	
  is	
  one	
  of	
  the	
  Double	
  
Angle	
  Iden,,es	
  for	
  Cosine	
  

AAA cossin2)2sin( =

The	
  other	
  two	
  can	
  be	
  found	
  
on	
  page	
  807	
  



AAA 22 sincos)2cos( −=

The	
  Double	
  Angle	
  Iden,ty	
  
for	
  Cosine	
  can	
  be	
  

manipulated	
  like	
  this:	
  

)cos1(cos)2cos( 22 AAA −−=

AAA 22 cos1cos)2cos( +−=

1cos2)2cos( 2 −= AA

AA 2cos
2

1)2cos( =+



The	
  Double	
  Angle	
  Iden,ty	
  
for	
  Cosine	
  can	
  be	
  

manipulated	
  like	
  this:	
  

2
)2cos(1cos AA +±=

AA 2cos
2

1)2cos( =+

2
)2cos(1cos AA +±=

2
)2cos(1sin AA −±=

The	
  Half	
  Angle	
  Iden,,es	
  




